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1.(1)`奇蒻橘 '¬くてJ駅憫i Ttt Чsdiさ ?
Whatis thc efFect of`Diesel_Knock'on combustion?

0哺 碇 含湘 翻1哺さ?
What do you understand by`Fire― point'?

(111)― ―燕 司 劇 :U輸町ミ ?

Whatis the llsc of`Psychrometric chart'?

(iv)燻綸可'可¬¬洒ミ?

Whatis the hction of`cOnderlser'?

(→ づ輛 '含鋼硼硼含さ?
What do you meall by`Black body'?
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2.〔 )H蜀 qu→ 鋼 田 可 さ ?寺蒻 ｀ 新 泊 輔
¬
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qu■ 調 囮 硬 可 理 頂 ¬油

ミ,v甲蒔針|
Whtt is 61gnition Lag'?What will be the ettct of En」 ne variables on`ignition

。 冨篤 轟 締 、u調
・ ―

Fヽ無 爾 希爺台罰 都議 l

Discuss the main pnnciples of SI Englne∞ mbusuon chamber dcsign。    (64o

3. (i)6~'■0甲轟漱r_uヨ 中Rф毒治―希 ささ?ボ漁 t赫 l

Whtt are ttt mam factors,which arectthetendencyto detonttc 7 Describethm

in detail.

(ii)π ttTゞでT可町諭新潮-1
Explain`Swirl'and`open'COmbustion chamber vnth flg園

℃.

4。 ① マL蒸。前 ｀新 希蒻 う甲 .哺.爺.希鍮 東軍活
モ師ミ l

Discuss thcllse ofLPG as a SI Engine hel.

〔ぅ 奇Q熊凛FF可口藪女ヨ尉¬日舌卵叩【R¬円ヽ活ヽョ可」両
群謝苗両l

Describe the working ofCatalytic Convertor wi■ sketch.          (00
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6.(i)`Rれ W霧漱晨'引 :ミ ?謝фiヨネ T可下由団面 琢硬 al

Whatis`Sling Psychrometer'?Desc五 be its tlse and woFking.

(ii) f{E+lqfuwftdfrfut,
Define the following :

(a) ri*{wt
Sensible - heat

(b) ftfrrE sTrdcl

Specific humiditY
(c) ftRtH 3rridr

Absolute humiditY

7.5鋪 舗 尚 薄 q鳳 l潔中 W哺 ｀師 泊 哺 輌 命 前 謝 い l

Describe the direrent∞mpOncnts ofan Automobile alr‐
condidOnmg systm with neat

(12)
sketch's.
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What is the impo」Иttre of`HCat―transfer'?DescFibe Vanous lnodes of Heat transfer.
o+6■3)Descnbe`Founer's Law'.
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